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Math IIT Honors Unit 1 Test Review

1) Describe the transformations from the parent function

1
flx) = xi to the function g(x) = = 1 7 (A.5SE 1a, F.BF.3)
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2) What is the minimum value of the function f(x) = |-5x + 4| +7? Is it relative or absolute? (F.IF.7)
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3) What is the equation of the inverse of f(x) = xT ? (F.BF.4c) i
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Sk, 4) If the graph of y = x? is shifted right 10 units and up 4 units, what is the equation of the new graph? (F.BF.3)
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5) What is the equation of the line of symmetry for the graph f(x)= 2x* -~ x? + 1? (F.IF.7)
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6) Given the function graphed to the right, state the domain and range of its inverse. (F.BF.4a, F.BF.4b)
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7) Given the piecewise graphed below. Answer the following questions. (F.IF.7).
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Dotain: ("OG, OO)

Range: E" 7 , o

Absolute Max: N; A Absolute Min: ( 0, f?)

Relative Max(-z ,'3) %(2;“33 Relative Min: N/H

Increasing: (O ,of b

Decreasing: (“w J O)

X-intercept(s): (%\, O) ﬁf ("?, O)

Y-intercept: (O, - :?>

End Behavier: ()5 2 —c0, U ol
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8) Graph the following functions, (F.IF.2 & F.IF.7)
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b. You go to Giant to buy some candy. You decide to buy snickers because they have a special
deal on snickers. A pound of snickers costs $3.45, but if you buy 4 or more pounds, they
only cost $3.00per bag. Write a piecewise function to represent this situation.
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Identify the following graph types.
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12) Find the inverse of the function. Graph the function and its inverse. Use a different color to
graph the inverse. (F.BF.4b, F.BF.4c) ¥ opp g, 15 (£ ’3‘*\1;;{«9’;& \

iR SRS T

¥

MW £ () = V32— 6
D Gepall g - L

B i
B

(K CD Q‘:«") X« f.r_.«-'&w b “ 5 -4 B D - 13 4 :

N SNy

Dig EO’:}O) -ib &

Q ( —c0, - a T -
m«‘-"

Based on the rates of change, identify each graph and explam your reasoning with words.

If you cannot identify the graph, write "none".
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15. Write the equation of the transformed functions given the parent function and fransformations.
Parent function of £(x) = |x| with a horizontal compression by a factor of %, reflected over the y-
axis, and left 3 units.

%(@= |2 (2 +3) \

16. Suppose that P(x) = x? + 6 represents the profit made from selling x number of pencils.

a. What is the domain and range of the function in the context of the problem?
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b. Find the inverse. 5 =y 4 (a -
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C. Wha+ is the domain and range of P~1(x) in the context of the problem?

d. Find P~1(30) and im‘er'pr'é'r your answer in terms of the problem.
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17. Draw a rough sketch of the table of values, label the concavity, and determine what type of

function it best represents. /?
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